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s''9 says, 770 by itself — STARY %153 570 MR 77T 020

OVERVIEW

*"3 maintains that 2°X21 ;770 and 2°2115 must be each by a scroll in itself, and we
cannot combine (even) 0°21021 2°X"21 in one scroll. MdOIN explains the reason for
this ruling.

mMooIn mentions and rejects a possible explanation for this ruling:
— 128y 2392 NN DI NIYW 72981 AT 2) HY NT NINY 9HONY 2910 NI

"3 does not require that each of 7"in should be in a scroll by itself, because it is

forbidden to place one (2°X°21 for instance) on top of the other (7n) -
— 11991 %2 HY ©221N9) DIN2I KIN H917Y 9IDN NNOYW JNIYN NYT

For we only find that it is forbidden to place 2531021 2°8°21 on top of 790 -
—’NY NODIN IN DYIND 2 YY DINYAY YAN

However, we do not find that it is forbidden to place 2°%°32 on top of 23212 or
the opposite (221> upon ox*21) —

mooin offers the correct reason:
— DN Y91 IN 21991 9199 991 AN XYW NNPYD 1390 NN

But rather this is the reason (why each of 7"i1n needs to be nnxy °193), so it
should not appear as if the entire scroll is like $771n, or the entire scroll is 2°8%21-

mdoINn brings support to his explanation:
— 908Y 193 N2 N22) YD NNYY IPAT 95N N2 DION Y9NINRT 9950 D

Just like the 3129 state shortly that they require that each X°31 be in a scroll by

itself -
:DNIAN 12 PUNY 192399 AN 13 “TNN X923 9195 591 ANTY KDY KIY NPV TN Y3

And perforce you must say, as it appears to the X"aw-, the reason why the
o701 require each X°21 in a separate scroll is, in order it should not appear that

the entire scroll is like one X33 (when in reality it is more than one), similarly according to
*"3 he requires that each division of either 2°X°21 ,77n or 0°21n2 should represent that division and

' See previous p>272 7" "o
2 If the reason is because m172 Mox (which may explain why 770 needs to be 7n¥y *193, but) why do 221021 D°X*23
need to be 1%y *193; we should be permitted to combine them since there is no 1"'¥1 o177 NOK!
3 It would be disrespectful (to the 77n) if in the same scroll there would be o°X*21 or 22105 and we would accord
them the same status as 771n; the same applies to °X°21 and 0°21n2, since they have differing identities, it is not
proper to place them in the same scroll thus abolishing their individuality.
* Each x°21is deserving of preserving his unique identity. See ‘Thinking it over’.
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not be intermingled with another division.

SUMMARY
We do not include the entire 7"1n in one scroll; so that it should not appear as if it
is all 770 or all 2°X°21 (when in fact it is a combination).

THINKING IT OVER
1. Is the reason for not combining 2°X°21 77N in one T2, the same as not
combining 0°21N21 @°X21 in one 713 (according to AT "M)?

2. Do o°&°21 and 2°2105 have the same w172 (and if yes why are they divided into
two categories)?

3. Why is the explanation of nnX ...2 A&7 9277 7°7° X>W, more evident according to
the *o»o1 than according to *"1?

3 See footnote # 4.
2

ToafosInEnglish.com



